Math 110 Common Exam #1
February 9, 2022

Time: 1 hour and 25 minutes

Instructions: Show all work for full credit.
No outside materials or calculators allowed.

Extra Space: Use the backs of each sheet
for extra space. Clearly label when doing so.
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For each of the following functions state the requested information. If something is not

there, write “None”. Please write the domains and ranges in interval notation, and the
intercepts as “x = “or “y =", (6 pts each)

a.

ﬂ\y

S

s ol

A

c. y=-log,(x+5)

VI.

The domain ( — %, <)

Therange __ (o, 0)

All x = intercepts Mone_

Ally —intercepts y=3

All present asymptotes (x and/ory) H4 : Y =0
Whether the function is increasing or decreasing
(from left to right) Decr\eaomj

Il
1.
Iv.

VI

The domain (-2, 4)

Therange __ (2, »)

All x— intercepts _lone

Ally=intercepts _Y = 4

All present asymptgtes (xand/ory) _H#4 : J= 2
Whether the function Is increasing or decreasing
(from left to right) lmaxeccm;/

. Thedomain ( - 5, 00)

Il. Therange __ ( —o0, )

.  Allx-intercepts = -4

IV.  Ally—-intercepts y > ~dog, s

V.  All present asymptotes (x and/ory) Vi : x=-S_

VI.  Whether the function is increasing or decreasing
(from left to right) __Deoc neay g




2. Find the equation of the graph in y = a - b* form. (4 pts)

lj:a'éfk
’(DOM*B :("ll?’3 ] ! \\
("'L(q) : !
72 ab”* 7= 2 » 92 2 5
Z:Cdg =0 > 0(:25 - B ﬂ.
—/\/\.’?

3. Evaluate the following: (4 pts each)

a. log,010 |

1

b. logn;‘ﬂ -~ - 2




4. Use the given information to find an expression for the question in terms of a
combination of the variables: (3 pts)

log,4=U loy bLoO - X (CJ‘/()‘))
log, 9=V 3“’ 63‘”

log, 10=W - ] ’,L /f [0
Find log ; 600 Cae/g (j"
= |+ Z«g(j(o IO

(A

5. Consider the function y = In(x — 10)

a. Find the inverse of the function. (3 pts)

X
>(~—/n(3—ro) = ey;g’/o 2 i Yol £/0

b. Graph both the original function and its inverse on the same coordinate plane.
Be sure to label at least one identifying point on each function and any

asymptotes. (4 pts)

v a«=(9




6. Graph the following; be sure to label any asymptotes AND at least 1 identifying point. (5

pts each)
a. y=e* 241
Qt’jl«'f—z
(22)
up /1— 7
- smllods 1 e
b. y=In(x-1)-1 e
@(abd"( !
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c. y=_2_(2)x+1
- Y ‘
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Qefleck omer v N
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Do 2 —I%); \

d. y=|In(x)|
=0




7. Solve the following for all solutions; identify any extraneous: (5 pts each)

Ya+ 9 J

2
ait Sa

1 4a+8 1
B a_2+ a2~ 3a? >

REYS (L(a’r?)’a 5 |za3+z7q”4

26" (Ga+13):=0 lé =i

batB=0 »

b. loggx — logg(x +1) =2

5
= = X
{%g Xt 82 K S 6 > 4= bYxciby

3 — ésx - é y > [,)( - —% Vl()“ w D(JW\CUV)
( ’UO JO[VA‘\“"

c. In4+1In(2x-3) =1In38

ﬁm( ”v“”} ﬂnSJ’ 5 &x=)2 =3¢

< g, N (1t é‘-qi)

imb’“"’r,n%‘—’
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b~ Lo q
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8. Find the inverses of the following functions: (5 pts each)

a. y=loge(x®>+6)+4 =3 O(:j (\7 rf—é)'f-l_/
6 @%}e

O 2

e s _
lawoe © Y= i |

,-L/

. y=(3’:-;6)1/2 . . ( 3 ;f—é )’/Z

> X = &—é o (F2T- Q‘—By
e T 1033 i
Ay = dy (~exe-c)|  TOT

(%) ,Xx<0 = 2 , X< O

9. Graph the following piecewise function 5 pts: y = {
3x , x>0
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